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M EXlZelnt
M EXNMHAE(FELXFNLY/KALEAI)

chel: EXi2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EXl2te| ot 3,411,731 5,446,230 A2,034,499
= 312,927
== 67,250
Al 3,031,554
EXH(ZELX N/ NHLTAI) 3,360,651 5,371,430 £2,010,779
= 312,927
< 67,250
Al 2,980,474
EXi2el 3,360,651 5,371,430 /2,010,779
= 312,927
== 67,250
Al 2,980,474
INESEL£1 168,300 128,434 39,866
201 2= 156,300 119,434 36,866
01 AtR2t2lt] 156,000 119,134 36,866
oget=ZH| 12,000,000 12,000
OXHT FAXIA 90,000,000& 90,000
O= gl 8,000& x5 100 4,000
OXNXIIEE S2 L XA
50,000,000 50,000
2 35284l 300 300 0
OSEANSEE HaEX €8 uEss
25,0002~ 12 300
202 04t 9,000 6,000 3,000
01 =LHOHI 9,000 6,000 3,000
OZ2E3HI 9,000,000& 9,000
203 =4l 3,000 3,000
03 A=A H R FZ| 3,000 3,000
OEXHEIYERF 150, 000& »202] 3,000
K= THZEALALS 2,058,040 3,619,987 1,561,947
201 Ler23 | 108,040 119,987 A11,947
01 At22t2lt] 90,040 100,000 29,960
Oggt+==H| 3,000,000& 3,000
ozd8Ilerg S 73,040,000& 73,040
@] 8,000 x5 25 1,000
OXIHTEAL S FHE(XFH 28 )
12,000,000 12,000
OXN A AL 28 223 =&
1,000,000& 1,000
02 S3=gl 18,000 19,987 A1,987
OXNAETHZA BEE2= 18,000,000 18,000
301 2N = 1,950,000 3,500,000 A1,550,000
14 0Bt 2as 1,950,000 3,500,000 1,850,000




2A:

EXl2e| 1t

BH: EXBH(SEUXANL/NALTA)
ol EXl&e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONEMEAAIY HEF A
1,950,000,000& 1,950,000
INESPYEVAUN 32 TS| 242,497 226,357 16,140
= 242,497
201 er23| 21,485 17,095 4,430
= 21,485
01 AFS2t2ltl 21,485 17,095 4,430
OXIHETHEAL LEH2 S| 11,547,000 11,547
= 11,547
OXHMZEAL JIEE =S|
9,938,000& 9,938
= 9,938
308 AHXIEMSOIE 221,012 209,302 11,710
= 221,012
18 SIS0t 4 A A A 221,012 209,302 11,710
OXNAEMEA =& =2
221,012,000& 221,012
= 221,012
HESAIXIIt2tel 175,800 197,960 N22,160
= 70,430
Al 105,370
101 @124H| 7,200 6,960 240
= 3,600
Al 3,600
04 JIZtN2 2N S 2+ 7,200 6,960 240
OJIZtMZ2Xt § 2=
2,400,000« 1H 32 7,200
= 3,600
Al 3,600
201 el 166,800 189,000 N22,200
= 66,830
Al 99,970
01 AtR2telbl 165,000 185,000 /20,000
QINESAINI BEF+&
152,000,000 152,000
= 60,330
Al 91,670
ORSIASAIRIRZE do=E
100,000& x10E +42] 4,000
= 2,000
Al 2,000
oget=ZH| 9,000,000& 9,000
= 4,500
Al 4,500




A EXlZel
M EXNHFE(FELXENL/XNALTAI)
chel: EXi2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 Ar=EHI 1,800 2,000 A200
OMNLBUSIMA AR2N=
1,800,000 1,800
202 048l 1,800 2,000 A200
01 2L AL 1,800 2,000 A200
OZUH=E 0 1,800,000 1,800
HNeERE=s 21t - A= 2 34,000 22,000 12,000
201 B2t 3,000 20,000 2,000
01 AFR 22| 32,000 20,000 2,000
OMNLRYS XJt AE+42
4,000,000 4,000
OMLHIE MEHNA ol /2
28,000,000& 28,000
802 gretsJIEt 2,000 2,000
03 Jletetets s 2,000 2,000
OHEFESHT XIIER Btets
2,000,000& 2,000
C2AEFAAY 2t 287,485 349,827 N62,342
= 17,250
Al 270,235
201 er23| 40,480 48,200 AT, 720
01 At2teltl 38,400 21,000 17,400
OEE2= M 4,000,000& 4,000
Odgt+=H| 4,000,000 4,000
(©f==ix] 8,000& *5& *x252 x100% 1,000
odstsE 7Y 2,400,000 2,400
O3 =& 1,000,000& 1,000
OXE H=ZA 1,000,000& 1,000
OL2Y A HUHAEE SAE=
25,000,000& 25,000
02 3224l 2,080 27,200 A25,120
O0382= £ HA 1,000,000 1,000
OALOIE KAIS S¢IR= 1,080,000 1,080
308 AtXIEMSOIE 98,506 70,127 28,378
183 S| 2SO &HAEAIE 98,505 70,127 28,378
OF=AFEACIAAE SN2t
18,673,000& 18,673
OKAIS RHAILH 15 AlBIE2E=
36,704,002 3,704
OYEL PE U FAII2E SX B
43,128,000& 43,128
401 Al HIZ S OHYI 148,500 81,500 67,000
=S 17,250
Al 131,250




A EXlZel
HH: EXHE(IEUXANL/ XN HLEA)
elr EX2el EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AlZHI 148,500 81,500 67,000
O=FAFEANE &X 250,000 *320H 80,000
Ok Z2AEZ HUHAIES X
16,000,000 16,000
=S 16,000
O=JHNE gse &1 2,500,000& 2,500
= 1,250
Al 1,250
Ok= A=SHS T WA 30,000,000& 30,000
OOl A2t ZAAIR - MAE led HEH
SE 4X 200,000 = 100K 20,000
SUEE 22| 394,529 811,865 A417,336
= 50,000
Al 344,529
201 er23| 79,560 68,300 11,260
01 AtR2t2|HI 79,560 68,300 11,260
OFRSUSEEFALE AZEFNH R
= 18,740,000& 18,740
OZBUEEAIAHE AZE N RIS
41,000,000 41,000
ORSUBEHBRAIAY SIS0 SN
10,520,0009\_J 10,520
OSZUHEZAIAHE GIEANH RAL=
4,000,000 4,000
OXHIBSE2ANAH SR
5,300,000& 5,300
207 ARl 185,469 568,565 A383,0%
= 50,000
Al 135,469
02 MAHHEHI 185,469 568,565 A383,09%6
OT(B)EX - JotHE CIXE &2 N&3st
165,469,000& 165,469
s 50,000
Al 115,469
ONHBE Hs 0B P&
20,000,000 20,000
401 AlEHIZ S 0HbI 50,000 100,000 250,000
01 AlZH| 50,000 100,000 50,000
O==ZAE= BIE Aal 50,000,000 50,000
405 AtatsE = 79,500 75,000 4,500
01 T ESFISHI 79,500 75,000 4,500
OAOIE KAIS ©H2D] 7
1,500,000 *3H 4,500
Ozl4l Daliae 34
75,000,000 75,000




M EX2el
M HI2IHHI(EX22l) (OIEH/IIE)

=l Jl=3H| (Gt H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
N 2AHHI(EX2 ) (OIEHIIE 51,080 74,800 A23,720
JlE23| 51,080 74,800 A23,720
Jl=2Z| 51,080 74,800 A23,720
201 B2 AY| 10,400 13,000 A2,600
01 A=R2teld| 8,000 10,000 A2,000
oOdet=2H| 8,000,000& 8,000
02 2324l 2,400 3,000 2600
02322 % MAl 200,000& =12 2,400
202 0idl 36,480 57,600 221,120
01 =LHO4 b 36,480 57,600 A21,120
OZHEZE NI 20,0002 * 19K +83|* 12 36,480
203 PR =&IH| 4,200 4,200
M EAM2EHRFA| 4,200 4,200
ORAN2ILRF&I 350,000& =123 4,200




